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1. Define Economic Growth and Economic Development and explain the différences

between them. 14
OR

(A) Write a note on “The Physical Quality Index” of Life. 7

(B) Write a note on Per Capita Income. 7

2. Critically explain Big push theory of Development. 14
OR

(A) Discuss Nurkse model of Growth. 7

(B) Explain the path of Unbalance Development. 7

3. Define Human Development. Explain the components of Human Development in

detail. 14
OR

(A) Write a note on “Human Development Index”. 7

(B)« Explain the concept of “Gender Development Index” with limitations. 7

4. Define Administration and Management. Discuss the differences between them. 14
OR

Clarify the concepts of Transparency and Accountability in detail.
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5. Multiple Choice Questions : 14
(1)  Which is broad concept from the following ?
(A) Economic Development (B) Economic Progress
(C) Economic Backwardness (D) Economic Growth
(2) In India National Income is calculated by
(A) Central Statistical Organisation
(B) Ministry of Statistic
(C) Central Government
(D) United Nation
(3) Average annual income of the people of a country is
(A) Per Capital Income (B) National Income
(C) Personal Income (D) Disposable Income
(4) The PQLI is developed by
(A) Marshall (B) _Amartya Sen
(C) Adam Smith (D) Mortis
(5) As per Big push theory investment must be made first in
(A) Direct productive-activities. (B) Social per head capital
(C) All sector of Economy (D) (A)and (B)
(6) Because of unbalanced growth invention get
(A) Discouraged (B) Encouraged
(C) Stable (D) None of these
(7) © DPA is concerned with
(A) < Power (B) Industry
(C) _Transport (D) Education
(8)¢ " United Nation has launched HDI in the year
(A) 2005 (B) 1990
(C) 1991 (D) 2016
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(9) Which of'the following is not measure of Human Development ?

(A) HPI (B) HGI
(C) GDP (D) HDI

(10) Which is included in Gender Index ?
(A) GDI (B) GEM

(C) (A)and(B) (D) HPI

(11) Which measures shows the Women Empowerment ?

(A) HPI (B) HDI
(C) GEM (D) GDI

(12) The term Management relates with
(A) Policy implementation (B) Policy formulation
(©) (A)and (B) (D) _Decision.making

(13) “Transparency plays an important-role for accountability” — The statement is
(A) False (B). True
(C) Partly true and Partly false - (D) None of these

(14) In which case citizens are provided with plenty of information ?
(A) Privacy (B) Administrative transparency
(C) Accountability (D) Political transparency
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1. (a) Explain the relevance of time and space in context to financial transactions. 7

OR

Discuss the main types and characteristics of financial instruments along with
financial markets.

(b) Answer any two in brief. 4
(1) Write about the basic idea of risk measurement:

(2) Discuss the risk and reward relationship in €ontext to financial transactions.

(3) If Miss. Reema deposits ¥ 20,000 every year for 5 years at 10% interest rate
then what would be the future value of this annuity ?
(¢) Answer the followings in brief : 3
(1) What is a compounding process ?
(2) What is meant by volatility in context to financial instruments ?

(3) Write an equation to calculate future value by compounding process.

2. (a) Discuss term structure theories of interest rate. 7
OR
Explain the Loanable funds theory of interest rate determination in detail.
(b) Answer any two in brief. 4

(1) . Discuss the Yield curves.
(2) What is risk free interest rate ?

(3) /If% 100 face value security is issued at I 98 with maturity period of 2 years
then what is its implicit rate of Interest ?

(c).  Answer the followings in brief. 3

(1) What is free interest rate ?
(2) What is real interest rate ?
(3) What is meant by zero coupon bond ?
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3.  (a) Explain the law of one price. 7
OR

Explain the principles of market valuation.

(b) Answer any two in brief. 4
(1)  What is strong form of efficient market hypothesis ?
(2) What is the basic idea of Capital Asset Pricing Model (CAPM) ?
(3) What is Lemons problem ?

(c¢) Answer the followings in brief. 3
(1)  What is meant by arbitraging ?
(2) What is meant by systematic risk ?

(3) What is meant by accounting measure of value ?

4. (a) What are warrants ? Discuss their characteristics. 7
OR
Explain Binomial valuation model.
(b) Answer any two in brief. 4

(1)  What is meant by derivatives ?
(2)  Write the difference between futures and forwards.
(3) Write about valuation of stock index arbitrage.
(¢) Answer any two from following : 3
(1)  What is Call option ?
(2) What is strike'value ?
(3) What is meant by Rights ?

5. Answer the following: 14
(1) Which of the following is not an instrument of capital market ?
(A) " Debenture (B) Equity Share
(C) - Preference share (D) Commercial paper

(2) If Mr. Siddhart will be paid ¥ 100 after 1 year and expected rate of return is 5%,
then the present value of that amount should be

(A) 9325 (B) 92.25
(C) 94.25 (D) 95.23
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(3) During inflation, which of the following is more remunerative ?
(A) Recurring deposits (B) Fixed interest bearing bonds
(C) Equity shares (D) Fixed deposits

(4) What is an equation to calculate present value of annuities ?

i n—1
(A) PV=A (“L} (B) PV=A|I1+ ! H
r (1+9)"

€) PV=A|l-—1

(1+i"

/ r:| (D) None of the above

(5) The Central Bank implements which type of monetary policy when there is
recession ?

(A) Contractionary (B) Expansionary
(C) Dear money (D) None of the above

(6) As per loanable fund theory, interest rate increases when
(A) Supply of money increases
(B) Supply of money decreases
(C) Demand for money decreases
(D) None of the above

(7) If nominal interest rate is 7% and risk premium is 4%, then the risk adjusted
interest rate is

A) 11% B) 3%
© 7% (D) 4%

(8) If lending rate of interest is 11% and borrowing interest rate is 8%, then the
interest spread is

A) 3% (B) 19%
©) 1% (D) 8%

(9). Who.developed arbitrage pricing theory ?
(A) Stephen Ross (B) Prof. Keynes
(C) " William Sharpe (D) Adam Smith

(10) Who developed the concept of systematic risk ?
(A) William Sharpe (B) Prof. Keynes
(C) John Stuart (D) Adam Smith
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(11) If market value of share is greater than it’s book value, then it represents
(A) Poor use of assets.
(B) Efficient use of assets reflected by asset turnover.
(C) No use of assets.
(D) None of the above.

(12) Which of following is a derivative instrument ?
(A) Equity (B) Warrant
(C) Fixed deposit (D) None of'the above

(13) Market Volatility is due to
(A) Expansionary monetary policy
(B) Fiscal policy
(C) Asymmetric information
(D) None of the above

(14) Which of the following indicates less risky investment ?
(A) Shares (B) Gold
(C) Government bonds (D) Mutual funds
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